Problem 1. (4 pts)

Show that (—(p — g)) — p is a tautology :
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b) using logical equivalence.
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Problem 2. (4 pts) State the converse and the contrapositive of the fol-
lowing statements:
a) "I will go swimming if it is sunny.”

converse:

I‘g L SWIMMI‘j “then i+ 1§ Sunny

?-\’
\ A contrapositive:
B 1S | don't go Swimmiy ea 1+ 15 net Sonny
b) * I stay indoors only if it rains”
CONVerse:

Is 4+ raias Ten I\T'fu)/ yndoo g

contrapositive
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Problem 3. (4 pts) Let P(m,n) be m < n where m and n are integers.
What are the truth values of

a) Yn3mP(m,n)
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b) dn¥mP(m,n)
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¢) Write the negation of b) without using the negation symbol or the

word "not”
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